20245 KIS HIE0ILHA

(R ==EFII=HEH-0L0I S S X3 AHY)

W ALKE =2 (e &e)
4= 202413 | 20241 s &= 202414 202414 s
EE = NEAA) | 2EAB) [ wpgp) |wism)| [2] 2] = JIEA) | 2EN0) | oy (m-p) | HiBO9)
=T 7.,507,663| 7,510,488 2,825 1| M=z 7.507.663| 7,510,488 2,825 1
Argi 29l 5,200,598| 5,200,448 A 150 N AbELH| 7.474,118| 7,473,968 A150 N
Argi 29l 5,200,598 5,200,448 A 150 N IOl S 2 X2 A HI (T ANY) 7.474,118| 7,473,968 A150 AT
OIS E 0I2NRL2(0ED) | 3,422,000 3,422,000 0 0 Ol0IS R0l BE42(2X2) 986,788  936.769|  A50,019 A5
Ol0ISE 0I2NRHS(NRL) | 1,778,598| 1,778,448 A 150 N OIS R0l BES4(H2) 3,422,000 3,422,000 0 0
2x24¢ 2,273,000| 2,273,000 0 0 OIS0l BE4(=o2eT) 1,777.168| 1,777,168 0 0
2x24¢ 2,273,000| 2,273,000 0 0 VEELEEEICES=)) 1,002,535 1,059,397 56,862 6
I EEI LY 1,577.100| 1,577,100 0 0 OOl S 202 2IH (L) 1,950 1,800 A150 A8
ABIEZE24¢ 337,950| 337,950 0 0 SAK QA (2X2) 252,779 252,734 A45 N
THEE24 337,950| 337,950 0 0 HHLY A (EE2) 30,898 24,100 ~8.798| 22
IEEE2 4 20,000] 20,000 0 0 olblbl % OIE 33,545 36,520 2,975 9
olga o1.427| 21,427 0 0 olbIbl & DIE 33,545 36,520 2,975 9
olga 21,4271 21,427 0 0 ohera 33,545 36,520 2,975 9
S EE 21,4271 21,427 0 0
&gl 12,638| 15,613 2,975 24
&gl 12,638| 15,613 2,975 24
VELPES 260 260 0 0
IEHE 42 11.858| 14,833 2,975 25
OIS0 BEME =orga 520 520 0 0
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